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Let I be the incenter of a triangle ABC
and let Dy, Dg,and D be the points of
contact of the incircle of the triangle with the
side BC, AC and AB respectively.

The circle AIB meets the sides BC and

AC atpoints A; and B, respectively; the

7B
circle AIC meets the sides BC and AB at /\/AV !

points A, and C; respectively; the circle BIC

meets the sides AC and AB at points B; and °
C,, respectively. Prove the following: Bl 10 e AL
(a) A]_Az + Ble + CICZ - AB + BC + AC

(b) Points D,, Dy and D, are the midpoints of A;4,, B;B, and C;C, respectively.
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Group (2024). Solutions 4861. Crux Mathematicorum, 50 (2), 87-88.
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